Equation Challenge Problems

#1 #2 #3
Give the name and # of
Cl, + NaBr > atoms for each element. HCI + CaCO; >
NaCl + Br, CaCl, + H,0 + CO,
2H,S0O,
#4 #5 #6
Give the name and # of
atoms for each element. Na + O, — Na,O NaClO; >
#8 #9
#7
CUC12 + st > H> + O, > H,O
ApS > Ag+Ss CuS +HCI
#10 #11 #12

A1203 2> Al + 02

Give the name and # of
atoms for each element.

Give the name and # of
atoms for each element.

3A1(OH);3 4A1,0;
#13 #14 #15
What type of
Al + FesN,> P,+0, > P,Oy reaction is this?
AIN + Fe

P4 + 502 > P4010
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#16

SiCly = Si+ Cl,

#17

What type of
reaction is this?

SiCly - Si+2Cl,

#18

H, + N, > NH;

#19 #20 #21
P4+02 9P40(, C+H, 9CH4 FC+H20 ->
FC304 + H2
#22 #23 #24
What type of

Fe + O, > Fe,03

reaction is this?

3Fe + 4H20 > Fe304 + 4H2

HgO - Hg+ 0O,

#25 #26 #277
Give the name of Give the name of
this compound. Mg + HCl > this compound.
MgCl, H; + MgCl, NaOH
#28 #29 #30

Na+ Br, =2 NaBr

Give the name of
this compound.

H,SO4

KCIO; = KCl1 + O,
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#31

Give the name of
this compound.

NaCl

#32

Na + Cl, - NaCl

#33

Give the name of
this compound.

H,O

#34

P + 02 > P40g

#35

Give the name and # of
atoms for each element.

#36

Mg + 02 éMgO

4A1,03
#377 #38 #39
What type of Give the name of
reaction is this? NaCl+F, > this compound.
2NaCl + F, > 2 NaF + Cl, NaF + Cl, o
#40 #41 #42
What type of
CH,+0, > reaction is this? P+ 0, = P,Os
CO; +H0 BaCl, + H,S0, >
BaSO, + 2HCI
#43 #44 #45
Give the name of Give the name and # of
this compound. Na+ H,0 = atoms for each element.
NaOH + H,

CO,

2H»SO4
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#46 #47 #48
Give the name and # of
Ag,O > Ag+ 0O, atoms for each element. HgO + Cl, >
HgCl + O,
4Mg(OH),
#49 #50 #51
Give the name and # of
H,0 + 0, > H,0, Sg+0, > SO; atoms for each element.
4BaSO4
S
oo™
#52 #53 * #54
Give the name and # of
NaOH + H,SO, =2 atoms for each element. C,Hg + O, —
Na,SO4 + H,O C02 + HQO
3(NH4)2
]
ond® oo of%®
%% 455 *#56 %% 457
NH3 + H2SO4 - HzOz -> HZO + 02 C3H8 + 02 ->
(NH4) 2+ SOy CO, + H,0
0o 0o 0o
Bo% % Bo®
* #58 * #59 * #60
7ZnS + AlIP > BaCl, + H,SO, = NaOH + H,SO, >
Zn3P> + AlLS;3 BaSO,4 + HCI Na,SO4 + H,O
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